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Lesson 14 ~ From Problems to Equations
Page 9 book 2

Many problems can be transformed into equations.  
To transform them you must:

Step 1 -  Identify the unknown quantity or quantities.

The sum of Claude and Jean‛s ages is 52 years.  Jean is 10 years older 
than twice Claude‛s age.  Determine Claude and Jean‛s ages.

What THINGS are we talking about?????

Step 2 -  Represent each unknown with a variable or algebraic 
expression.

example # 1

Claude's  age Jean's  age

video clip 
solve PS 
equations

Step 3  -  Form an equation.

Step 4  -  Solve.

Step 5 -  Express and verify the solution.

Claude Jean

+ - x ÷
   =

The sum of Claude and Jean‛s ages is 52 years.  Jean is 10 years older
 than twice Claude‛s age.  Determine Claude and Jean‛s ages.

The sum of Claude and Jean‛s ages is 52 years.  Jean is 10 years older
 than twice Claude‛s age.  Determine Claude and Jean‛s ages.

The sum of Claude and Jean‛s ages is 52 years.  Jean is 10 years older
 than twice Claude‛s age.  Determine Claude and Jean‛s ages.

http://www.5min.com/Video/Learn-about-Multi-Step-Equations-Applications-286301028
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5 less than the product of 3 and a number is 19.  What is the number? 

x, the number.

3x - 5 = 19
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10 + 4.25x = 27

Masa wants to rent a motor scooter.  It costs $10.00, plus $4.25/h.  He 
has $27.00.  How many hours can he afford?

x, the number of hours.
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x, the number of people.
5 + 1.25x = 15

The cost for a bus to cross the bridge is $5.00 for the bus and driver, plus 
$1.25 for each passenger.  Including the driver, how many can cross the 
bridge for $15.00?
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first second third

=

a number the other number
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